Directional syncretism without directional rules

Johannes Hein & Andrew Murphy NELS 53, Göttingen, 12th January 2023

Humboldt-Universität zu Berlin & Universität Leipzig

Introduction

	Masculine		Feminine	Neuter
	human	non-human	(non-)human	(non-)human
NOM	słab-i	słab-e	słab-e	słab-e
ACC	słab-ych	słab-e	słab-e	słab-e
GEN	słab-ych	słab-ych	słab-ych	słab-ych
LOC	słab-ych	słab-ych	słab-ych	słab-ych
DAT	słab-ym	słab-ym	słab-ym	słab-ym
INS	słab-ymi	słab-ymi	słab-ymi	słab-ymi

Plural declension of Polish adjective słaby 'weak'

	Masculine		Feminine	Neuter
	human	non-human	(non-)human	(non-)human
NOM	słab-i	słab-e	słab-e	słab-e
ACC	słab-ych	słab-e	słab-e	słab-e
GEN	słab-ych	słab-ych	słab-ych	słab-ych
LOC	słab-ych	słab-ych	słab-ych	słab-ych
DAT	słab-ym	słab-ym	słab-ym	słab-ym
INS	słab-ymi	słab-ymi	słab-ymi	słab-ymi

Plural declension of Polish adjective słaby 'weak'

	Masculine		Feminine	Neuter
	human	non-human	(non-)human	(non-)human
NOM	słab-i	słab-e	słab-e	słab-e
ACC	słab-ych	słab-e	słab-e	słab-e
GEN	słab-ych	słab-ych	słab-ych	słab-ych
LOC	słab-ych	słab-ych	słab-ych	słab-ych
DAT	słab-ym	słab-ym	słab-ym	słab-ym
INS	słab-ymi	słab-ymi	słab-ymi	słab-ymi

Plural declension of Polish adjective słaby 'weak'

	Masculine		Feminine	Neuter
	human	non-human	(non-)human	(non-)human
NOM	słab-i	słab-e	słab-e	słab-e
ACC	słab-ych	słab-e	słab-e	słab-e
GEN	słab-ych	słab-ych	słab-ych	słab-ych
LOC	słab-ych	słab-ych	słab-ych	słab-ych
DAT	słab-ym	słab-ym	słab-ym	słab-ym
INS	słab-ymi	słab-ymi	słab-ymi	słab-ymi

Plural declension of Polish adjective słaby 'weak'

Types of syncretism (Stump 2001):

• Unstipulated syncretism:

	Masculine		Feminine	Neuter
	human	non-human	(non-)human	(non-)human
NOM	słab-i	słab-e	słab-e	słab-e
ACC	słab-ych	słab-e	słab-e	słab-e
GEN	słab-ych	słab-ych	słab-ych	słab-ych
LOC	słab-ych	słab-ych	słab-ych	słab-ych
DAT	słab-ym	słab-ym	słab-ym	słab-ym
INS	słab-ymi	słab-ymi	słab-ymi	słab-ymi

Plural declension of Polish adjective słaby 'weak'

Types of syncretism (Stump 2001):

• Unstipulated syncretism: DAT \rightarrow -ym,

	Masculine		Feminine	Neuter
	human	non-human	(non-)human	(non-)human
NOM	słab-i	słab-e	słab-e	słab-e
ACC	słab-ych	słab-e	słab-e	słab-e
GEN	słab-ych	słab-ych	słab-ych	słab-ych
LOC	słab-ych	słab-ych	słab-ych	słab-ych
DAT	słab-ym	słab-ym	słab-ym	słab-ym
INS	słab-ymi	słab-ymi	słab-ymi	słab-ymi

Plural declension of Polish adjective słaby 'weak'

Types of syncretism (Stump 2001):

• Unstipulated syncretism: dat ightarrow -ym, ins ightarrow -ymi

	Masculine		Feminine	Neuter
	human	non-human	(non-)human	(non-)human
NOM	słab-i	słab-e	słab-e	słab-e
ACC	słab-ych	słab-e	słab-e	słab-e
GEN	słab-ych	słab-ych	słab-ych	słab-ych
LOC	słab-ych	słab-ych	słab-ych	słab-ych
DAT	słab-ym	słab-ym	słab-ym	słab-ym
INS	słab-ymi	słab-ymi	słab-ymi	słab-ymi

Plural declension of Polish adjective słaby 'weak'

- Unstipulated syncretism: dat ightarrow -ym, ins ightarrow -ymi
- Symmetrical syncretism:

	Masculine		Feminine	Neuter
	human	non-human	(non-)human	(non-)human
NOM	słab-i	słab-e	słab-e	słab-e
ACC	słab-ych	słab-e	słab-e	słab-e
GEN	słab-ych	słab-ych	słab-ych	słab-ych
LOC	słab-ych	słab-ych	słab-ych	słab-ych
DAT	słab-ym	słab-ym	słab-ym	słab-ym
INS	słab-ymi	słab-ymi	słab-ymi	słab-ymi

Plural declension of Polish adjective słaby 'weak'

- Unstipulated syncretism: dat ightarrow -ym, ins ightarrow -ymi
- Symmetrical syncretism: Nom \cup Acc \rightarrow -e,

	Masculine		Feminine	Neuter
	human	non-human	(non-)human	(non-)human
NOM	słab-i	słab-e	słab-e	słab-e
ACC	słab-ych	słab-e	słab-e	słab-e
GEN	słab-ych	słab-ych	słab-ych	słab-ych
LOC	słab-ych	słab-ych	słab-ych	słab-ych
DAT	słab-ym	słab-ym	słab-ym	słab-ym
INS	słab-ymi	słab-ymi	słab-ymi	słab-ymi

Plural declension of Polish adjective słaby 'weak'

- Unstipulated syncretism: dat ightarrow -ym, ins ightarrow -ymi
- Symmetrical syncretism: Nom \cup Acc \rightarrow -*e*, gen \cup Loc \rightarrow -*ych*

	Masculine		Feminine	Neuter
	human	non-human	(non-)human	(non-)human
NOM	słab-i	słab-e	słab-e	słab-e
ACC	słab-ych	słab-e	słab-e	słab-e
GEN	słab-ych	słab-ych	słab-ych	słab-ych
LOC	słab-ych	słab-ych	słab-ych	słab-ych
DAT	słab-ym	słab-ym	słab-ym	słab-ym
INS	słab-ymi	słab-ymi	słab-ymi	słab-ymi

Plural declension of Polish adjective słaby 'weak'

- Unstipulated syncretism: dat ightarrow -ym, ins ightarrow -ymi
- Symmetrical syncretism: Nom \cup Acc \rightarrow -*e*, gen \cup Loc \rightarrow -*ych*
- Directional syncretism:

	Masculine		Feminine	Neuter
	human	non-human	(non-)human	(non-)human
NOM	słab-i	słab-e	słab-e	słab-e
ACC	🔥 słab-ych	słab-e	słab-e	słab-e
GEN	słab-ych	słab-ych	słab-ych	słab-ych
LOC	słab-ych	słab-ych	słab-ych	słab-ych
DAT	słab-ym	słab-ym	słab-ym	słab-ym
INS	słab-ymi	słab-ymi	słab-ymi	słab-ymi

Plural declension of Polish adjective słaby 'weak'

- Unstipulated syncretism: dat ightarrow -ym, ins ightarrow -ymi
- Symmetrical syncretism: Nom \cup Acc \rightarrow -e, gen \cup Loc \rightarrow -ych
- Directional syncretism: MASC HUM ACC \Rightarrow Gen \cup Loc

	Masculine		Feminine	Neuter
	human	non-human	(non-)human	(non-)human
NOM	słab-i	słab-e	słab-e	słab-e
ACC	🔥 słab-ych	słab-e	słab-e	słab-e
GEN	słab-ych	słab-ych	słab-ych	słab-ych
LOC	słab-ych	słab-ych	słab-ych	słab-ych
DAT	słab-ym	słab-ym	słab-ym	słab-ym
INS	słab-ymi	słab-ymi	słab-ymi	słab-ymi

Plural declension of Polish adjective słaby 'weak'

Types of syncretism (Stump 2001):

- Unstipulated syncretism: dat ightarrow -ym, ins ightarrow -ymi
- Symmetrical syncretism: Nom \cup Acc \rightarrow -e, gen \cup Loc \rightarrow -ych
- Directional syncretism: MASC HUM ACC \Rightarrow Gen \cup Loc

Here, directional syncretism is captured by a rule of referral.

	Masculine		Feminine	Neuter	
	human	non-human	(non-)human	(non-)human	
NOM	słab-i	słab-e	słab-e	słab-e	
ACC	słab-ych	słab-e	słab-e	słab-e	
GEN	słab-ych	słab-ych	słab-ych	słab-ych	
LOC	słab-ych	słab-ych	słab-ych	słab-ych	

	Masculine		Feminine	Neuter
	[+human]	[-human]	[±human]	[±human]
NOM [+a, +b, +c]	słab-i	słab-e	słab-e	słab-e
ACC [+a, -b, +c]	słab-ych	słab-e	słab-e	słab-e
GEN [-a, -b, -c]	słab-ych	słab-ych	słab-ych	słab-ych
LOC [-a, -b, +c]	słab-ych	słab-ych	słab-ych	słab-ych





Insertion rules:



Insertion rules:

a. $[+a, +b, +c, +hum, masc] \rightarrow -i$

	Mascu	line	Feminine	Neuter
	[+human]	[-human]	[±human]	[±human]
NOM [+a, +b, +c]	[+a, +b, +c]	[+a, +b, +c]	[+a, +b, +c]	[+a, +b, +c]
$\begin{bmatrix} ACC \\ [+a, -b, +c] \end{bmatrix}$	[+a, -b, +c]	[+a, -b, +c]	[+a, -b, +c]	[+a, -b, +c]
$\begin{bmatrix} GEN \\ [-a,-b,-c] \end{bmatrix}$	[-a, -b, -c]	[−a, −b, −c]	[−a, −b, −c]	[-a, -b, -c]
$\begin{bmatrix} LOC \\ [-a, -b, +c] \end{bmatrix}$	[-a, -b, +c]	$\left[-a,-b,+c ight]$	$\left[-a,-b,+c ight]$	$\left[-a,-b,+c ight]$

Insertion rules:

a. $[+a, +b, +c, +hum, masc] \rightarrow -i$



Insertion rules:

a. $[+a, +b, +c, +hum, masc] \rightarrow -i$



Insertion rules:

a. $[+a, +b, +c, +hum, masc] \rightarrow -i$ b. $[+a, +c] \rightarrow -e$



Insertion rules:

- a. $[+a, +b, +c, +hum, masc] \rightarrow -i$
- b. $[+a, +c] \rightarrow -e$



Insertion rules:

a. $[+a, +b, +c, +hum, masc] \rightarrow -i$ b. $[+a, +c] \rightarrow -e$



Insertion rules:



Insertion rules:



Insertion rules:



Insertion rules:



Insertion rules:

a. $[+a, +b, +c, +hum, masc] \rightarrow -i$ b. $[+a, +c] \rightarrow -e$ c. $[-b] \rightarrow -ych$

Impoverishment rule:



Insertion rules:

a. $[+a, +b, +c, +hum, masc] \rightarrow -i$ b. $[+a, +c] \rightarrow -e$ c. $[-b] \rightarrow -ych$

Impoverishment rule:



Insertion rules:

a. $[+a, +b, +c, +hum, masc] \rightarrow -i$ b. $[+a, +c] \rightarrow -e$ c. $[-b] \rightarrow -ych$

Impoverishment rule:



Insertion rules:

a. $[+a, +b, +c, +hum, masc] \rightarrow -i$ b. $[+a, +c] \rightarrow -e$ c. $[-b] \rightarrow -ych$

Impoverishment rule:

 $[+a] \hspace{0.1in} \rightarrow \hspace{0.1in} \varnothing \hspace{0.1in} / \hspace{0.1in} [masc], [+hum], [-b]$



Insertion rules:

a. $[+a, +b, +c, +hum, masc] \rightarrow -i$ b. $[+a, +c] \rightarrow -e$ c. $[-b] \rightarrow -ych$

Impoverishment rule:

 $[+a] \hspace{0.1in} \rightarrow \hspace{0.1in} \varnothing \hspace{0.1in} / \hspace{0.1in} [masc], [+hum], [-b]$

Rules of referral vs. impoverishment

State of the art (Kramer 2016):

Rules of referral vs. impoverishment

State of the art (Kramer 2016):

• Rules of referral: empirically adequate (Stump 2001; Baerman 2004)

State of the art (Kramer 2016):

- Rules of referral: empirically adequate (Stump 2001; Baerman 2004)
- Impoverishment: more restrictive (Noyer 1998; Bobaljik 2002)
State of the art (Kramer 2016):

- Rules of referral: empirically adequate (Stump 2001; Baerman 2004)
- Impoverishment: more restrictive (Noyer 1998; Bobaljik 2002)

Unmarkedness Hypothesis

If a cell X takes the exponent associated with another cell Y, then the feature specification of Y's exponent is less marked than the feature specification of X's exponent.

(Dir. syncretism involves spreading of less marked exponents.)

State of the art (Kramer 2016):

- Rules of referral: empirically adequate (Stump 2001; Baerman 2004)
- Impoverishment: more restrictive (Noyer 1998; Bobaljik 2002)

Unmarkedness Hypothesis

If a cell X takes the exponent associated with another cell Y, then the feature specification of Y's exponent is less marked than the feature specification of X's exponent.

(Dir. syncretism involves spreading of less marked exponents.)

a.
$$[+a, +b, +c, +hum, masc] \rightarrow -i$$

b. $[+a, +c] \rightarrow -e \downarrow_{marked}^{less}$
c. $[-b] \rightarrow -ych \downarrow_{marked}^{less}$

State of the art (Kramer 2016):

- Rules of referral: empirically adequate (Stump 2001; Baerman 2004)
- Impoverishment: more restrictive (Noyer 1998; Bobaljik 2002)

Unmarkedness Hypothesis

If a cell X takes the exponent associated with another cell Y, then the feature specification of Y's exponent is less marked than the feature specification of X's exponent.

(Dir. syncretism involves spreading of less marked exponents.)

a.
$$[+a, +b, +c, +hum, masc] \rightarrow -i$$

b. $[+a, +c] \rightarrow -e$
c. $[-b] \rightarrow -ych$

'Retreat to the General Case' (Halle and Marantz 1993, 1994)

Rules of referral vs. impoverishment

• Criticism: The DM approach is too restrictive. It fails to capture bidirectional syncretism.

• Criticism: The DM approach is too restrictive. It fails to capture bidirectional syncretism.

'Can one maintain Noyer's conjecture that universally, a directional syncretism's determinant member is less marked than its dependent member? The answer, clearly, is no. First, the very existence of bidirectional referrals is incompatible with Noyer's conjecture. [...] this conjecture is empirically disconfirmed'

(Stump 2001: 236)

• Criticism: The DM approach is too restrictive. It fails to capture bidirectional syncretism.

'What the DM model seems to exclude categorically are what [Baerman et al. (2005: 136)] call bidirectional syncretisms [...] [Baerman et al. (2005)] contains ample counterexamples to the DM doctrine on syncretism.'

(Spencer 2019: 25)

• Criticism: The DM approach is too restrictive. It fails to capture bidirectional syncretism.

'What the DM model seems to exclude categorically are what [Baerman et al. (2005: 136)] call bidirectional syncretisms [...] [Baerman et al. (2005)] contains ample counterexamples to the DM doctrine on syncretism.'

(Spencer 2019: 25)

But is this actually true?

• Bidirectional syncretism: Two distinct instances of directional syncretism in the same paradigm.

- Bidirectional syncretism: Two distinct instances of directional syncretism in the same paradigm.
- Baerman (2004) identified two subtypes: convergent BDS and divergent BDS.

- Bidirectional syncretism: Two distinct instances of directional syncretism in the same paradigm.
- Baerman (2004) identified two subtypes: convergent BDS and divergent BDS.

- Bidirectional syncretism: Two distinct instances of directional syncretism in the same paradigm.
- Baerman (2004) identified two subtypes: convergent BDS and divergent BDS.

(1) Convergent BDS

$$\begin{array}{c}
x \quad y \\
1 \quad A \quad A \\
2 \quad A \quad B \\
3 \quad B \quad B \\
\end{array}$$

• Convergent BDS: Each directional syncretism has the same target.

- Bidirectional syncretism: Two distinct instances of directional syncretism in the same paradigm.
- Baerman (2004) identified two subtypes: convergent BDS and divergent BDS.



• Convergent BDS: Each directional syncretism has the same target.

- Bidirectional syncretism: Two distinct instances of directional syncretism in the same paradigm.
- Baerman (2004) identified two subtypes: convergent BDS and divergent BDS.



- Convergent BDS: Each directional syncretism has the same target.
- Divergent BDS: The target of one directional syncretism is the source of the other.

Convergent bidirectional syncretism (CBDS)

	NOUN 'house'	pronoun 'l'
NOM	labčoŋ-Ø	ndžaŋ-Ø
GEN	labčoŋ-ne	ndžaŋ-ne
ACC	labčoŋ-ne 🕴	ndžaŋ-de
DAT	labčoŋ-de	ndžaŋ-de
ABL	labčoŋ-se	ndžaŋ-se
INS/COM	labčoŋ-gale	ndžaŋ-gale

Case declension in Bonan

Other examples: case declension in Lak, case declension in Russian, tense inflection in Gujarati (Baerman 2004)

	NOUN	PRON
GEN	-ne	-ne
ACC	-ne	-de
DAT	-de	-de



Insertion rules:

- a. Gen \rightarrow -ne
- b. dat \rightarrow -de

	NOUN	PRON
GEN	-ne	-ne
ACC		
DAT		

Insertion rules:

a. GEN \rightarrow -ne b. DAT \rightarrow -de

	NOUN	PRON
GEN	-ne	-ne
ACC		
DAT	-de	-de

Insertion rules:

- a. GEN \rightarrow -ne
- b. dat \rightarrow -de

	NOUN	PRON
GEN	-ne	-ne
ACC		
DAT	-de	-de

Insertion rules:

- a. Gen \rightarrow -ne
- b. dat \rightarrow -de

Rules of referral:

	NOUN	PRON
GEN	-ne	-ne
ACC		
DAT	-de	-de

Insertion rules:

- a. Gen \rightarrow -ne
- b. dat \rightarrow -de

Rules of referral:

a. Acc noun \Rightarrow gen

	NOUN	PRON
GEN	-ne	-ne
ACC	-ne	
DAT	-de	-de

Insertion rules:

- a. Gen \rightarrow -ne
- b. dat \rightarrow -de

Rules of referral:

a. Acc noun \Rightarrow gen

	NOUN	PRON
GEN	-ne	-ne
ACC	-ne	
DAT	-de	-de

Insertion rules:

a.	GEN	\rightarrow	-ne

b. dat \rightarrow -de

Rules of referral:

- a. Acc noun \Rightarrow gen
- b. Acc pron \Rightarrow dat

	NOUN	PRON
GEN	-ne	-ne
ACC	-ne	-de
DAT	-de	-de

Insertion rules:

a.	GEN	\rightarrow	-ne

b. dat \rightarrow -de

Rules of referral:

- a. Acc noun \Rightarrow gen
- b. Acc pron \Rightarrow dat





a.
$$[+a] \rightarrow -ne$$

b. $[+b] \rightarrow -de$



a.
$$[+a] \rightarrow -ne$$

b. $[+b] \rightarrow -de$



a. $[+a] \rightarrow -ne$ b. $[+b] \rightarrow -de$



a. $[+a] \rightarrow -ne$ b. $[+b] \rightarrow -de$

	NOUN	PRON
$_{[+a, -b]}^{\text{GEN}}$	-ne	-ne
ACC $[+a, +b]$	-ne/de	-ne/-de
$\begin{bmatrix} DAT \\ [-a,+b] \end{bmatrix}$	-de	-de

a. $[+a] \rightarrow -ne$ b. $[+b] \rightarrow -de$



a.
$$[+a] \rightarrow -ne$$

b.
$$[+b] \rightarrow -de$$

Problem: Underspecification leads to indeterminacy



a.
$$[+a] \rightarrow -ne$$

b.
$$[+b] \rightarrow -de$$

Problem: Underspecification leads to indeterminacy



a.
$$[+a] \rightarrow -ne$$

b.
$$[+b] \rightarrow -de$$

Problem: Underspecification leads to indeterminacy



a.
$$[+a] \rightarrow -ne$$

b.
$$[+b] \rightarrow -de$$

Problem: Underspecification leads to indeterminacy



a.
$$[+a] \rightarrow -ne$$

b.
$$[+b] \rightarrow -de$$

Problem: Underspecification leads to indeterminacy
$$\begin{array}{c|c} & \text{NOUN} & \text{PRON} \\ \hline & & \\ [+a,-b] & -ne & -ne \\ & \text{ACC} \\ [+a,+b] & [+a,+b] & [+a,+b] \\ & \\ & \text{DAT} \\ [-a,+b] & -de & -de \end{array}$$

a.
$$[+a] \rightarrow -ne$$

b.
$$[+b] \rightarrow -de$$

Problem: Underspecification leads to indeterminacy

Solution #1 (Harley 2008): impoverishment + feature hierarchy

$$\begin{array}{c|c} & \text{NOUN} & \text{PRON} \\ \hline & & \\ [+a,-b] & -ne & -ne \\ & \text{ACC} \\ [+a,+b] & [+a,+b] & [+a,+b] \\ & \\ & \text{DAT} \\ [-a,+b] & -de & -de \end{array}$$

a.
$$[+a] \rightarrow -ne$$

b.
$$[+b] \rightarrow -de$$

Problem: Underspecification leads to indeterminacy

Solution #1 (Harley 2008): impoverishment + feature hierarchy

 $[+b] \rightarrow \textit{Ø} \ / \ _ \ [+a], [noun] \qquad \qquad (impoverishment \ rule)$



a.
$$[+a] \rightarrow -ne$$

b.
$$[+b] \rightarrow -de$$

Problem: Underspecification leads to indeterminacy

Solution #1 (Harley 2008): impoverishment + feature hierarchy

 $[+b] \rightarrow \emptyset \ / \ _ \ [+a], [noun] \qquad \qquad (impover ishment \ rule)$



a.
$$[+a] \rightarrow -ne$$

b.
$$[+b] \rightarrow -de$$

Problem: Underspecification leads to indeterminacy

Solution #1 (Harley 2008): impoverishment + feature hierarchy

 $[+b] \rightarrow \emptyset \ / \ _ \ [+a], [noun] \qquad \qquad (impover ishment \ rule)$



a.
$$[+a] \rightarrow -ne$$

b.
$$[+b] \rightarrow -de$$

Problem: Underspecification leads to indeterminacy

Solution #1 (Harley 2008): impoverishment + feature hierarchy

$$\label{eq:constraint} \begin{split} [+b] \rightarrow \emptyset \ / \ _ \ [+a], [NOUN] & (impover ishment rule) \\ [+a] \succ [+b] & (feature hierarchy) \end{split}$$



a.
$$[+a] \rightarrow -ne$$

b.
$$[+b] \rightarrow -de$$

Problem: Underspecification leads to indeterminacy

Solution #1 (Harley 2008): impoverishment + feature hierarchy

$$\label{eq:constraint} \begin{split} [+b] \rightarrow \emptyset \ / \ _ \ [+a], [NOUN] & (impover is hment rule) \\ [+a] \succ [+b] & (feature hierarchy) \end{split}$$



a.
$$[+a] \rightarrow -ne$$

b.
$$[+b] \rightarrow -de$$

Problem: Underspecification leads to indeterminacy

Solution #1 (Harley 2008): impoverishment + feature hierarchy

$$\label{eq:constraint} \begin{array}{ll} [+b] \rightarrow \ensuremath{\emptyset} \ / \ _ \ [+a], [NOUN] & (impover ishment rule) \\ \\ [+a] \succ [+b] & (feature hierarchy) \end{array}$$

Note: This might not conform to the Unmarkedness Hypothesis.



a.
$$[+a] \rightarrow -ne$$

b.
$$[+b] \rightarrow -de$$

Problem: Underspecification leads to indeterminacy

Solution #2: Two impoverishment rules

$$\label{eq:constraint} \begin{split} [+b] \to \emptyset \ / \ _ \ [+a], [NOUN] & (impover ishment rule) \\ [+a] \to \emptyset \ / \ _ \ [+b], [PRON] & (impover ishment rule) \end{split}$$



a.
$$[+a] \rightarrow -ne$$

b.
$$[+b] \rightarrow -de$$

Problem: Underspecification leads to indeterminacy

Solution #2: Two impoverishment rules

$$\label{eq:constraint} \begin{split} [+b] \to \emptyset \ / \ _ \ [+a], [NOUN] & (impover ishment rule) \\ [+a] \to \emptyset \ / \ _ \ [+b], [PRON] & (impover ishment rule) \end{split}$$

	NOUN	PRON
$_{[+a, -b]}^{\text{GEN}}$	-ne	-ne
ACC $[+a, +b]$	-ne	-de
$\begin{bmatrix} DAT \\ [-a,+b] \end{bmatrix}$	-de	-de

a.
$$[+a] \rightarrow -ne$$

b.
$$[+b] \rightarrow -de$$

Problem: Underspecification leads to indeterminacy

Solution #2: Two impoverishment rules

$$\label{eq:constraint} \begin{split} [+b] \to \emptyset \ / \ _ \ [+a], [NOUN] & (impover ishment rule) \\ [+a] \to \emptyset \ / \ _ \ [+b], [PRON] & (impover ishment rule) \end{split}$$

	NOUN	PRON
$\begin{array}{c} GEN \\ [+a,-b] \end{array}$	-ne	-ne
ACC $[+a, +b]$	-ne	-de
$\begin{bmatrix} DAT \\ [-a,+b] \end{bmatrix}$	-de	-de

a.
$$[+a] \rightarrow -ne$$

b.
$$[+b] \rightarrow -de$$

Problem: Underspecification leads to indeterminacy

Solution #2: Two impoverishment rules

$$\label{eq:constraint} \begin{split} [+b] \to \emptyset \ / \ _ \ [+a], [NOUN] & (impover ishment rule) \\ [+a] \to \emptyset \ / \ _ \ [+b], [PRON] & (impover ishment rule) \end{split}$$

Conclusion: Convergent BDS is not a challenge for DM.



Singular case declension in Latin

Other examples: Old Icelandic (Stump 1993), Romanian (Stump 2001), Classical Arabic, Diyari (Baerman 2004), Nimboran (Noyer 1998)







a. $[+a, -b] \rightarrow -us$

a. $[+a, -b] \rightarrow -us$

- a. $[+a, -b] \rightarrow -us$ b. $[+a, +b] \rightarrow -um$

- a. $[+a, -b] \rightarrow -us$ b. $[+a, +b] \rightarrow -um$

 $\begin{array}{rrrr} a. & [+a,-b] & \rightarrow & \textit{-us} \\ b. & [+a,+b] & \rightarrow & \textit{-um} \end{array}$

- a. $[+a, -b] \rightarrow -us$
- b. $[+a, +b] \rightarrow -um$
- $c. \quad [-b] \rightarrow \textit{Ø} \ / \ _ \ [+a], [I]$

- a. $[+a, -b] \rightarrow -us$
- b. $[+a, +b] \rightarrow -um$
- c. $[-b] \rightarrow \emptyset / _ [+a], [I]$

- a. $[+a, -b] \rightarrow -us$
- b. $[+a] \rightarrow -um$
- c. $[-b] \rightarrow \emptyset / _ [+a], [I]$

- a. $[+a, -b] \rightarrow -us$
- b. $[+a] \rightarrow -um$
- $c. \quad [-b] \rightarrow \textit{Ø} \ / \ _ \ [+a], [I]$

- a. $[+a] \rightarrow -us$
- b. $[+a] \rightarrow -um$
- $c. \quad [-b] \rightarrow \textit{Ø} \ / \ _ \ [+a], [I]$

$$\begin{tabular}{|c|c|c|c|c|c|} \hline I & II & III \\ \hline NOM \\ [+a, -b] & -us/-um & -us/-um \\ \hline ACC \\ [+a, +b] & -us/-um & -us/-um \\ \hline -us/-um & -us/-um \\ \hline \end{tabular}$$

- a. $[+a] \rightarrow -us$
- b. $[+a] \rightarrow -um$
- $c. \quad [-b] \rightarrow \textit{Ø} \ / \ _ \ [+a], [I]$

$$\begin{tabular}{|c|c|c|c|c|} & I & II & III \\ \hline NOM \\ [+a, -b] & -us/-um & -us/-um \\ \hline ACC \\ [+a, +b] & -us/-um & -us/-um \\ \hline \end{array}$$

 $\begin{array}{rrrr} a. & [+a] & \rightarrow & \textit{-us} \\ b. & [+a] & \rightarrow & \textit{-um} \end{array}$

Problem: The two exponents have a fully overlapping distribution.

$$\begin{tabular}{|c|c|c|c|c|} & I & II & III \\ \hline NOM \\ [+a, -b] & -us/-um & -us/-um \\ \hline ACC \\ [+a, +b] & -us/-um & -us/-um \\ \hline \end{array}$$

 $\begin{array}{rrrr} a. & [+a] & \rightarrow & \textit{-us} \\ b. & [+a] & \rightarrow & \textit{-um} \end{array}$

Problem: The two exponents have a fully overlapping distribution.

a. $[+a] \rightarrow -us$ b. $[+a] \rightarrow -um$

Problem: The two exponents have a fully overlapping distribution.

The distribution of the markers cannot be derived by underspecification/impoverishment.



a. $[+a] \rightarrow -us$ b. $[+a] \rightarrow -um$

Problem: The two exponents have a fully overlapping distribution.

The distribution of the markers cannot be derived by underspecification/impoverishment.

Divergent BDS therefore seems to pose a serious problem for the DM approach to syncretism (Stump 2001; Baerman 2004; Spencer 2019).

	Ι	П	III
NOM	-us	-us	-us
ACC	-um	-um	-um

- a. Nom \rightarrow -us
- b. Acc \rightarrow -um

- c. Nom \Rightarrow Acc in class I
- d. Acc \Rightarrow Nom in class III

	Ι	П	III
NOM	-us	-us	-us
ACC	-um	-um	-um

- a. Nom \rightarrow -us
- b. Acc \rightarrow -um

- c. Nom \Rightarrow Acc in class I
- d. Acc \Rightarrow Nom in class III

	I	П	III
NOM	<mark>₁ -um</mark>	-us	-us
ACC	-um	-um	-um

- a. Nom \rightarrow -us
- b. Acc \rightarrow -um

- **c.** NOM \Rightarrow ACC in class I
- d. Acc \Rightarrow Nom in class III



- a. Nom \rightarrow -us
- b. Acc \rightarrow -um

- c. Nom \Rightarrow Acc in class I
- d. Acc \Rightarrow Nom in class III

	Ι	П	
NOM	∱ -um	-us	-us
ACC	-um	-um	-us ↓

a. Nom ightarrow -us

b. Acc \rightarrow -um

Directional rules of referral:

- c. NOM \Rightarrow ACC in class I
- d. Acc \Rightarrow Nom in class III

This pattern therefore seems to require directional rules.

	Ι	11	
NOM	∱ -um	-us	-us
ACC	-um	-um	-us ↓

a. Nom ightarrow -us

b. Acc \rightarrow -um

Directional rules of referral:

- c. NOM \Rightarrow ACC in class I
- d. Acc \Rightarrow Nom in class III

This pattern therefore seems to require directional rules.

It challenges the view that syncretism is constrained by markedness.

	Ι	П	III
NOM	∱ -um	-us	-us
ACC	-um	-um	-us⁺

a. Nom ightarrow -us

b. Acc \rightarrow -um

Directional rules of referral:

- c. NOM \Rightarrow ACC in class I
- d. Acc \Rightarrow Nom in class III

This pattern therefore seems to require directional rules.

It challenges the view that syncretism is constrained by markedness.

But is there an alternative?
Noyer (1998) proposed that impoverishment can lead to insertion of an unmarked value (also see Harbour 2003; Arregi and Nevins 2012).

Noyer (1998) proposed that impoverishment can lead to insertion of an unmarked value (also see Harbour 2003; Arregi and Nevins 2012).

(3) Markedness hierarchy for case

 $\label{eq:acc} \begin{array}{ccc} \ldots & \succ & \mathsf{acc} & \succ & \mathsf{nom} \\ & & & & [+a,+b] & & & [+a,-b] \end{array}$

Noyer (1998) proposed that impoverishment can lead to insertion of an unmarked value (also see Harbour 2003; Arregi and Nevins 2012).

(3) Markedness hierarchy for case

 $\label{eq:acc} \begin{array}{ccc} \ldots & \succ & \mathsf{acc} & \succ & \mathsf{nom} \\ & & & [+a,+b] & & [+a,-b] \end{array}$

In the context of [+a], [-b] is the unmarked value (Nevins 2011).

Noyer (1998) proposed that impoverishment can lead to insertion of an unmarked value (also see Harbour 2003; Arregi and Nevins 2012).

(3) Markedness hierarchy for case

 $\dots \succ \operatorname{ACC} \succ \operatorname{NOM} \\ [+a, +b] \qquad [+a, -b]$

In the context of [+a], [-b] is the unmarked value (Nevins 2011).

[+a, +b] (ACC)

Noyer (1998) proposed that impoverishment can lead to insertion of an unmarked value (also see Harbour 2003; Arregi and Nevins 2012).

(3) Markedness hierarchy for case

 $\label{eq:acc} \begin{array}{ccc} \ldots & \succ & \mathsf{acc} & \succ & \mathsf{nom} \\ & & & [+a,+b] & & [+a,-b] \end{array}$

In the context of [+a], [-b] is the unmarked value (Nevins 2011).

a. $[+b] \rightarrow \emptyset / _ [+a]$ (impoverishment rule)

Noyer (1998) proposed that impoverishment can lead to insertion of an unmarked value (also see Harbour 2003; Arregi and Nevins 2012).

(3) Markedness hierarchy for case

 $\label{eq:acc} \begin{array}{ccc} \ldots & \succ & \mathsf{acc} & \succ & \mathsf{nom} \\ & & & [+a,+b] & & [+a,-b] \end{array}$

In the context of [+a], [-b] is the unmarked value (Nevins 2011).

a. $[+b] \rightarrow \emptyset / _ [+a]$ (impoverishment rule)

Noyer (1998) proposed that impoverishment can lead to insertion of an unmarked value (also see Harbour 2003; Arregi and Nevins 2012).

(3) Markedness hierarchy for case

 $\label{eq:acc} \begin{array}{ccc} \ldots & \succ & \mathsf{acc} & \succ & \mathsf{nom} \\ & & & [+a,+b] & & [+a,-b] \end{array}$

In the context of [+a], [-b] is the unmarked value (Nevins 2011).

a. $[+b] \rightarrow \emptyset / _ [+a]$ (impoverishment rule) b. $\emptyset \rightarrow [-b] / _ [+a]$ (redundancy rule)

Noyer (1998) proposed that impoverishment can lead to insertion of an unmarked value (also see Harbour 2003; Arregi and Nevins 2012).

(3) Markedness hierarchy for case

 $\label{eq:acc} \begin{array}{ccc} \ldots & \succ & \mathsf{acc} & \succ & \mathsf{nom} \\ & & & [+a,+b] & & [+a,-b] \end{array}$

In the context of [+a], [-b] is the unmarked value (Nevins 2011).

 $\begin{array}{ll} \text{a.} & [+b] \rightarrow \mathcal{O} \ / \ _ \ [+a] & (\text{impoverishment rule}) \\ \text{b.} & \mathcal{O} \rightarrow [-b] \ / \ _ \ [+a] & (\text{redundancy rule}) \end{array}$

Noyer (1998) proposed that impoverishment can lead to insertion of an unmarked value (also see Harbour 2003; Arregi and Nevins 2012).

(3) Markedness hierarchy for case

 $\label{eq:acc} \begin{array}{ccc} \ldots & \succ & \mathsf{acc} & \succ & \mathsf{nom} \\ & & & [+a,+b] & & [+a,-b] \end{array}$

In the context of [+a], [-b] is the unmarked value (Nevins 2011).

a. $[+b] \rightarrow \emptyset / _ [+a]$ (impoverishment rule)

b. $\ensuremath{ \ensuremath{ \varnothing} \to [-b] / _ [+a]}$ (redundancy rule)

Noyer's approach can turn ACC into NOM, but not NOM into ACC!



a. $[+a, -b] \rightarrow -us$ b. $[+a, +b] \rightarrow -um$

$$\begin{tabular}{|c|c|c|c|c|c|} \hline I & II & III \\ \hline & NOM \\ [+a, -b] & [+a, -b] & -us & -us \\ \hline & ACC \\ [+a, +b] & -um & -um & [+a, +b] \end{tabular}$$

a.
$$[+a, -b] \rightarrow -us$$

b. $[+a, +b] \rightarrow -um$



a.
$$[+a, -b] \rightarrow -us$$

b.
$$[+a, +b] \rightarrow -um$$

c. $[+b] \rightarrow \emptyset / _ [+a], [III]$ (impoverishment rule I)



a.
$$[+a, -b] \rightarrow -us$$

b.
$$[+a, +b] \rightarrow -um$$

c. $[+b] \rightarrow \emptyset / _ [+a], [III]$ (impoverishment rule I)



a.
$$[+a, -b] \rightarrow -us$$

b.
$$[+a, +b] \rightarrow -um$$

c. $[+b] \rightarrow \emptyset / _ [+a], [III]$ (impoverishment rule I)



a.
$$[+a, -b] \rightarrow -us$$

b.
$$[+a, +b] \rightarrow -um$$

c.
$$[+b] \rightarrow \emptyset / _ [+a], [III]$$

d.
$$\emptyset \rightarrow [-b] / _ [+a]$$



a.
$$[+a, -b] \rightarrow -us$$

b.
$$[+a, +b] \rightarrow -um$$

c.
$$[+b] \rightarrow \emptyset / _ [+a], [III]$$

d. $\emptyset \rightarrow [-b] / _ [+a]$

- a. $[+a, -b] \rightarrow -us$
- b. $[+a,+b] \rightarrow \textit{-um}$
- c. $[+b] \rightarrow \emptyset / _ [+a], [III]$ (impoverishment rule I)
- $\mathsf{d.} \quad \varnothing \to [-b] \, / \, __\, [+a] \qquad \quad (\mathsf{redundancy\ rule})$

- a. $[+a, -b] \rightarrow -us$
- b. $[+a, +b] \rightarrow -um$
- c. $[+b] \rightarrow \emptyset / _ [+a], [III]$ (impoverishment rule I)
- $\mathsf{d.} \quad \varnothing \to [-b] \, / \, __\, [+a] \qquad \quad (\mathsf{redundancy\ rule})$

a.
$$[+a, -b] \rightarrow -us$$

b.
$$[+a] \rightarrow -um$$

c.
$$[+b] \rightarrow \emptyset / _ [+a], [III]$$

- d. $\emptyset \rightarrow [-b] / _ [+a]$
- e. $[-b] \rightarrow \emptyset / _ [+a], [I]$

a.
$$[+a, -b] \rightarrow -us$$

b.
$$[+a] \rightarrow -um$$

c.
$$[+b] \rightarrow \emptyset / _ [+a], [III]$$

- d. $\emptyset \rightarrow [-b] / _ [+a]$
- e. $[-b] \rightarrow \emptyset / _ [+a], [I]$

a.
$$[+a, -b] \rightarrow -us$$

b.
$$[+a] \rightarrow -um$$

c.
$$[+b] \rightarrow \emptyset / _ [+a], [III]$$

- d. $\emptyset \rightarrow [-b] / _ [+a]$
- e. $[-b] \rightarrow \emptyset / _ [+a], [I]$

a.
$$[+a, -b] \rightarrow -us$$

b.
$$[+a] \rightarrow -um$$

c.
$$[+b] \rightarrow \emptyset / _ [+a], [III]$$

- d. $\emptyset \rightarrow [-b] / _ [+a]$
- e. $[-b] \rightarrow \emptyset / _ [+a], [I]$

a.
$$[+a, -b] \rightarrow -us$$

b.
$$[+a] \rightarrow -um$$

c.
$$[+b] \rightarrow \emptyset / _ [+a], [III]$$

- d. $\emptyset \rightarrow [-b] / _ [+a]$
- e. $[-b] \rightarrow \emptyset / _ [+a], [I]$

a.
$$[+a, -b] \rightarrow -us$$

b.
$$[+a] \rightarrow -um$$

c.
$$[+b] \rightarrow \emptyset / _ [+a], [III]$$
 (impoverishment rule I)

d.
$$\emptyset \rightarrow [-b] / _ [+a]$$
 (redundancy rule)

 $e. \quad [-b] \to {\it 0/_[+a]}, [I] \qquad (\text{impoverishment rule II})$

Problem: Re-insertion of unmarked [-b] still leads to insertion of -us!



a.
$$[+a, -b] \rightarrow -us$$

b.
$$[+a] \rightarrow -um$$

c.
$$[+b] \rightarrow \emptyset / _ [+a], [III]$$
 (impoverishment rule I)

d.
$$\emptyset \rightarrow [-b] / _ [+a]$$
 (redundancy rule)

e. $[-b] \rightarrow \emptyset / _ [+a], [I]$ (impoverishment rule II)

Problem: Re-insertion of unmarked [-b] still leads to insertion of -us!



a.
$$[+a, -b] \rightarrow -us$$

b.
$$[+a] \rightarrow -um$$

c. $[+b] \rightarrow \emptyset / _ [+a], [III]$ (impoverishment rule I)

- d. $\emptyset \rightarrow [-b] / _ [+a]$ (redundancy rule)
- $e. \quad [-b] \to \emptyset \ / \ _ \ [+a], [I] \qquad (impover ishment \ rule \ II)$

Problem: Re-insertion of unmarked [-b] still leads to insertion of *-us*!

Solution: Noyer (1998: 276, fn.6) already proposed that deleted unmarked values cannot be re-inserted.

a.
$$[+a, -b] \rightarrow -us$$

b.
$$[+a] \rightarrow -um$$

c. $[+b] \rightarrow \emptyset / _ [+a], [III]$ (impoverishment rule I)

- d. $\emptyset \rightarrow [-b] / _ [+a]$ (redundancy rule)
- e. $[-b] \rightarrow \emptyset / _ [+a], [I]$ (impoverishment rule II)

Problem: Re-insertion of unmarked [-b] still leads to insertion of *-us*!

Solution: Noyer (1998: 276, fn.6) already proposed that deleted unmarked values cannot be re-inserted.



a.
$$[+a, -b] \rightarrow -us$$

b.
$$[+a] \rightarrow -um$$

c. $[+b] \rightarrow \emptyset / _ [+a], [III]$ (impoverishment rule I)

- d. $\emptyset \rightarrow [-b] / _ [+a]$ (redundancy rule)
- $e. \quad [-b] \to \emptyset \ / \ _ \ [+a], [I] \qquad (\text{impoverishment rule II})$

Problem: Re-insertion of unmarked [-b] still leads to insertion of *-us*!

Solution: Noyer (1998: 276, fn.6) already proposed that deleted unmarked values cannot be re-inserted.



a.
$$[+a, -b] \rightarrow -us$$

b.
$$[+a] \rightarrow -um$$

c. $[+b] \rightarrow \emptyset / _ [+a], [III]$ (impoverishment rule I)

- d. $\emptyset \rightarrow [-b] / _[+a]$ (redundancy rule)
- $e. \quad [-b] \to \emptyset \ / \ _ \ [+a], [I] \qquad (impover ishment \ rule \ II)$

Problem: Re-insertion of unmarked [-b] still leads to insertion of -us!

Solution: Noyer (1998: 276, fn.6) already proposed that deleted unmarked values cannot be re-inserted.

We can derive divergent BDS under Noyer's view of impoverishment.

But does this analysis conform to the Unmarkedness Hypothesis?

But does this analysis conform to the Unmarkedness Hypothesis?

a. $[+a, -b] \rightarrow -us$ b. $[+a] \rightarrow -um$

But does this analysis conform to the Unmarkedness Hypothesis?



a. $[+a, -b] \rightarrow -us$ \downarrow less b. $[+a] \rightarrow -um$ \downarrow marked

Problem: In class III, more marked exponent *-us* spreads to ACC (blocking less marked *-um*)

Problem: We stated the Unmarkedness Hypothesis in terms of the exponents.

Problem: We stated the Unmarkedness Hypothesis in terms of the exponents.

impoverishment rules [...] *embody the hypothesis that true syncretism* [...] *will always be neutralizations towards lesser marked forms.*

(Bobaljik 2002: 64)

Problem: We stated the Unmarkedness Hypothesis in terms of the exponents.

impoverishment rules [...] *embody the hypothesis that true syncretism* [...] *will always be neutralizations towards lesser marked forms.*

(Bobaljik 2002: 64)

Alternative: We can instead formulate the Unmarkedness Hypothesis in terms of insertion contexts rather than forms.

Problem: We stated the Unmarkedness Hypothesis in terms of the exponents.

impoverishment rules [...] *embody the hypothesis that true syncretism* [...] *will always be neutralizations towards lesser marked forms.*

(Bobaljik 2002: 64)

Alternative: We can instead formulate the Unmarkedness Hypothesis in terms of insertion contexts rather than forms.

Impoverishment-plus-Insertion will always move from a more marked to a less marked state.

(Noyer 1998: 282)
Unmarkedness Hypothesis

If a cell X takes the exponent associated with another cell Y, then there must be a reduction in the markedness of the feature specification of X.

(Directional syncretism involves a change from a more marked to a less marked feature combination.)

Unmarkedness Hypothesis

If a cell X takes the exponent associated with another cell Y, then there must be a reduction in the markedness of the feature specification of X.

(Directional syncretism involves a change from a more marked to a less marked feature combination.)

Three-level contextual markedness:

Unmarkedness Hypothesis

On this view, contextual markedness is reduced in each case:



a.
$$[+a, -b] \rightarrow -us$$

b. $[+a] \rightarrow -um$

most marked \succ less marked \succ least marked[+a, +b][+a, -b] $[+a, \emptyset b]$ ACCNOMunder-determined

Conclusion

• Bidirectional syncretism is not a challenge to DM approach to syncretism (*pace* Stump 2001; Baerman 2004; Spencer 2019).

- Bidirectional syncretism is not a challenge to DM approach to syncretism (*pace* Stump 2001; Baerman 2004; Spencer 2019).
- Even divergent BDS can be derived on Noyer's (1998) view of impoverishment + markedness-driven feature insertion.

- Bidirectional syncretism is not a challenge to DM approach to syncretism (*pace* Stump 2001; Baerman 2004; Spencer 2019).
- Even divergent BDS can be derived on Noyer's (1998) view of impoverishment + markedness-driven feature insertion.
- The idea that directional syncretism is constrained by markedness (Unmarkedness Hypothesis) can be maintained (with a contextual, three-level view of markedness).

- Bidirectional syncretism is not a challenge to DM approach to syncretism (*pace* Stump 2001; Baerman 2004; Spencer 2019).
- Even divergent BDS can be derived on Noyer's (1998) view of impoverishment + markedness-driven feature insertion.
- The idea that directional syncretism is constrained by markedness (Unmarkedness Hypothesis) can be maintained (with a contextual, three-level view of markedness).
- (Bi)directional syncretism does not justify additional power of unrestricted rules of referral.

Thank you for your attention!

References i

Arregi, Karlos and Andrew Nevins (2012). *Morphotactics: Basque Auxiliaries and the Structure of Spellout*. Springer: Dordrecht. Baerman, Matthew (2004). Directionality and (Un)Natural Classes in Syncretism. *Language* 80(4). 807–827.

- Baerman, Matthew, Dunstan Brown and Greville G. Corbett (2005). The Syntax-Morphology Interfaces: A Study of Syncretism. Cambridge University Press: Cambridge.
- Bobaljik, Jonathan David (2002). Syncretism Without Paradigms: Remarks on Williams 1981, 1994. In G. Booij and J. van Marle (eds). Yearbook of Morphology 2001. Kluwer: Dordrecht. 53–85.
- Halle, Morris and Alec Marantz (1993). Distributed Morphology and the Pieces of Inflection. In K. Hale and S. J. Keyser (eds). The View from Building 20. MIT Press: Cambridge Massachusetts. 111–176.
- Halle, Morris and Alec Marantz (1994). Some key features of Distributed Morphology. In A. Carnie, H. Harley and T. Bures (eds). Papers on Phonology and Morphology. Vol. 21. of MIT Working Papers in Linguistics. MITWPL: Cambridge, Mass.. 275–288.

Harbour, Daniel (2003). The Kiowa case for feature insertion. Natural Language and Linguistic Theory 21(3). 543-578.

- Kramer, Ruth (2016). Syncretism in paradigm function morphology and distributed morphology. In H. Harley and D. Siddiqi (eds). Morphological Metatheory. Benjamins: Amsterdam/Philadelphia. 95–120.
- Nevins, Andrew (2011). Marked Targets versus Marked Triggers and Impoverishment of the Dual. Linguistic Inquiry 42(3). 413-444.
- Noyer, Rolf (1998). Impoverishment Theory and Morphosyntactic Markedness. In S. Lapointe, D. Brentari and P. Farrell (eds). Morphology and Its Relation to Phonology and Syntax. CSLI: Palo Alto. 264–285.

Spencer, Andrew (2019). Manufacturing Consent over Distributed Morphology. Word Structure 12(2). 208-259.

Stump, Gregory T. (1993). On Rules of Referral. Language 69(3). 449-479.

Stump, Gregory T. (2001). Inflectional Morphology: A Theory of Paradigm Structure. Cambridge University Press: Cambridge.

Appendix

An alternative view of divergent BDS?

Alternative view of Latin as convergent BDS:

	Ι	П	111
	[+A, -B]	[+A, +B]	[+A, +B]
NOM	bell-um	serv-us ←	– vulg-us
ACC	bell-um —	► serv-um	vulg-us
GEN	bell-ī	serv-ī	vulg-ī
DAT	bell-ō	serv-ō	vulg-ō
ABL	bell-ō	serv-ō	vulg-ō

a. $[+A] \rightarrow -um$

b. $[+B] \rightarrow -us$

Problem: Markedness. [I], [III] \succ [II] ?

(4)

Case feature decomposition for Latin (Halle 1997)						
	$[\pm superior]$	$[\pm structural]$	$[\pm oblique]$			
Nom	+	+	_			
Acc	—	+	_			
Gen	_	+	+			
Dat	+	+	+			
Abl	+	—	+			

(5) Markedness hierarchy for case $\dots \succ ACC \succ NOM$ [+struc, -sup, -obl] [+struc, +sup, -obl]

For example: [-sup] is the marked value in the context of [-obl] 21

Composite feature changing rules

a.
$$[+b] \rightarrow \emptyset / _ [+a]$$
 (impoverishment rule 1)

- b. $\emptyset \rightarrow [-b] / _ [+a]$ (redundancy rule)
- c. $[-b] \rightarrow \emptyset / _ [+a]$ (impoverishment rule 2)

most marked	\succ	less marked	\succ	least marked
[+a, +b]		[+a, -b]		[+a, Øb]
ACC		NOM		under-determined

Issue: Only stepwise markedness reduction is possible, i.e. $[+a, +b] \rightarrow [+a, Øb]$ implies $[+a, -b] \rightarrow [+a, Øb]$.

Alternative: Markedness-restricted feature changing rules.

- d. $[+b] \rightarrow \emptyset / _ [+a]$ (impoverishment rule)
- e. $[+b] \rightarrow [-b] / __ [+a]$ (feature changing rule)